
 

These words, below, sound like they would have two 
o’s saying /oo/ (like in Cookie Crisps). They are 

tricksters, and we have to remember that o-u-l says 
/oo/ in these three base words. 

 

Write the following words:  
 

would 
____________________________________________________________ 
 

------------------------------------------------------------------------------------------------------------
____________________________________________________________ 
 

could 
____________________________________________________________ 
 

------------------------------------------------------------------------------------------------------------
____________________________________________________________ 
 

should 
____________________________________________________________ 
 

------------------------------------------------------------------------------------------------------------
____________________________________________________________ 
 
Note that the word wood (made from trees) is spelled with two 

o’s. The homophone*, would, has an o-u-l that says /oo/. 
 

*homo = same  &  phone = sound à  homophone = same sound 
 


